 „Time Series Analysis“ third assignment sheet
1. Use the continuously compounded returns 
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 (log returns) from the Dow Jones series  that you have computed in the last assignment and estimate an ARMA(p,q) model using the series. Estimate by Maximum Likelihood various ARMA specifications from p=0, q=0 up to p=2, q=2. 

Select the appropriate model using the Schwartz (SBC) and the Akaike criterion (AIC), respectively. Is the selected model what you would have expected?

Conduct an out-of-sample forecast including confidence bounds. Import the resulting graph in your favourite word processor.


2. Open the EVIEWS workfile “svar.wk1” (download from web). The file contains macroeconomic data of the Swiss economy.

Compute empirical autocorrelograms and select appropriate ARMA models (using SBC and AIC) for the three month interest rate (series zs3mlibq) and the first difference of the log of the seasonally adjusted real gross national product (first difference of the log of series BIPRSA). Conduct  out-of sample forecasts (8 periods ahead) for the two series using your selected model and include confidence bounds.
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